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1 kgf.s?/m = 9.80665 kg kg kgf.s?/m P ¥
1 Gal = 0.01 m/s? m/s’ Gal ol ¥
1 kgf = 9.80665 N N kgf ‘ ¥
Pod
1dyn=10;N N dyn . >
1 kgf.m = 9.80665 N N.m kgf.m 9 Sy S s
1 kgf/cm®= 9.80665 x 10* Pa Pa v
1 kgffem® = 9.80665 x 10> N/mm* N/mm2 kgf/cm? L
1 mHg = 133.322 kPa Pa mHg A
1 kgflcm® = 9.80665 x 10* Pa Pa g X
1 kgfilcm? = 9.80665 x 102 N/mm? | N/mm2 ) X”
1 kgf.m = 9.80665 J J kgf.m Ve
(5) )8
1lerg=100nJ J erg N
1PS =735.499 W PS
W Ol \Y
1 HP = 746.101 W HP
1 cal = 4.18605 W g .
cal )5 e WY
1 cal = 4.18605 W.s W.s
1 cal/(h.m.’C) = 0.001163 W/(m."C) | W/(m."C) | cal/(h.m."C) Sl colin v
1 cal/(h.m%°C) = 0.001163 W/(m2."'C) | W/(m?.’C) | cal/(h.m’.’C) | LS colin cups | VO
1 cal/(kg."C) = 4.18605 J/(kg. C) J(kg. C) | call(kg. C) | wbo)Songcudsls | V5
1 phon=1dB dB - o lid pdans %
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